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Question 1
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Question 2

a. [image: image67.wmf]x
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b. Since the magnitude of the force of the wind is constant, the system is in equilibrium.
Method 1 – using triangle of forces
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Method 2 – resolving horizontally and vertically
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Resolving horizontally

                   
[image: image5.wmf])

1

(

3

)

sin(

-

=

g

θ

T


Resolving vertically
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Check in (1) if time,
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Question 3

Let 
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The vector component of 
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The vector component of 
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Question 4

a. Let 
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The other two solutions to 
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Question 5

a. 
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Since 
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b. Since 
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So the required domain is 
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 (1 mark) – right endpoint
Question 6
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 (1 mark)  correct answer

Question 7
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 Question 8


Do a quick sketch.
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(1 mark)
Question 9


The shaded region shown is rotated about the y-axis.
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Question 10


 (1 mark) – correct asymptotes 

(1 mark)  correct shape including 

passing through the origin 
a. 
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At the point 
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Question 11

a. 
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b. 
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